
Ratkaisuja harjoitustehtäviin: 

Neliöjuuri 

1 𝑎) √25 = 5, koska 52 = 25   𝑏) √1 =  1, koska 12 = 1   𝑐) √36 = 6 , koska 62 = 36     𝑑) √4 =

2, koska 22 = 4.  

2)  𝑎) √81 − √9 = 9 − 3 = 6  𝑏) √25 − 16 = √9 = 3   𝑐) √25 − √16 = 5 − 4 = 1. 

3) 𝑎) (√6)
2

= 6   𝑏)  (−√6)
2

= 6   𝑐) (√5 − √1)
2

= (√4)
2

= 4  

 

Neliöjuuren laskusäännöt 

1. a) √4 ∙ 16 = √4√16 = 2 ∙ 4 = 8  b) √2 ∙ √32 = √2 ∙ 32 = √64 = 8  c)√3√12 =

√3 ∙ 12 = √36 = 6  
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 3. a) √12 + 2√3 − 3√2 + √8 = √4 ∙ 3 + 2√3 − 3√2 + √4 ∙ 2 = √4√3 + 2√3 −

3√2 + √4√2 = 2√3 + 2√3 − 3√2 + 2√2 = 4√3 − √2         b) √50 − √5√10 =

√50 − √5 ∙ 10 = √50 − √50 = 0. 

 

Korkeammat juuret 

1.  a) 3𝑥5 + 96 = 0  

3𝑥5 = −96 

𝑥5 =
−96
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𝑥5 = −32 

𝑥 = −2 

b) 2𝑥4 − 32 = 0 

2𝑥4 = 32 

𝑥4 = 16 

𝑥 = 2 



                                  2. a) 5𝑥6 = 70   

𝑥6 = 14 

𝑥 = ±√14
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       b) 4𝑥5 − 128 = 0 

4𝑥5 = 128 

𝑥5 =
128
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𝑥5 = 32 

𝑥 = 2 

 


